Deflector Bombardier Outlander
PLEASE STORE WITH ATV MANUAL

Read all instructions prior to assembly

Vip-Air inc © Allrights reserved Vip-Air inc.

Important: You don’t have to take off the hand protectors

Step 1: Install the right U-Clamp on the handlebars. The opening side should be in front of the handle bar.
Be sure to install all hardware as on the drawing (see over).




Guarantee

Vip-Air inc. reserves the right to repair or replace free of charge, parts judged to be defective due to manufacture
or material defect with a part if his choice. Vip-Air inc. also reserves the right to judge if the cause of damage is
due to abusive use on behalf of the consumer either through improper maintenance or handling.

Parts
deflector Bombardier Outlander
Ref. # Number Description Qty.
1 # according to color | Deflector base 1
2 51-999-100 Clear windshield 16 %’ 8 holes 1
3 51-999-01 Push Clips 8
4 51-999-93 Upper right support 1
5 51-999-94 Upper left support 1
6 51-999-37 Bolt in 6 hollow sections (bottom socket cap screws) 1/4" — 20 NC x 1/2" LG 8
7 51-999-35 Flange Nut %4 NC 8
8 51-999-95 Lower left and right support 2
9 51-999-98 Bushing 2 1/4” 1
10 51-999-96 U-Clamp Black Sandtex 1
11 51-999-12 Conic washers 1°” X 25/64”’ 2
12 51-999-39 Hex bolt 3/8”” NC X 1 %" LG 1
13 51-999-14 Washer of blocking notched 3/8°” int. (star washer 3/8”’ in) 1
14 51-999-70 Washer 3/8”’ 2
15 51-999-71 Hex bolt 3/8”” X 1 3/8”" long 1
16 51-999-97 Bushing 1 5/8” 1
17 51-999-72 Metric Bolt 10mm X 2 3/8’ 1

Vip-Air inc. 25 avenue C6té, St-Ephrem , Québec, Canada, GOM 1R0  for information please contact admin@vip-air.com

Phone : 1-888-484-5820



A CONSERVER AVEC LE MANUEL DU VTT QUAD
Déflecteur Outlander

Lire toutes les instructions avant l'installation

Vip-Air inc © Tous droits réservés Vip-Air inc.

Important : Nul besoin d’enlever les protéges mains, si déja installés sur le VIT

Etape 1 : Installer le collet droit au guidon, en insérant ’ouverture vers I’avant. Rassembler comme le dessin (voir verso).

Etape 3 : Assurez-vous que le pare-brise soit bien aligné et prenez soin de serrer tous les boulons ainsi que ceux du pare-
brise.

- T




Garantie

Vip-Air inc se réserve le droit de réparer ou de remplacer sans frais, a leur choix, toute piéce jugée défectueuse en raison d'un vice
de matériaux ou de fabrication. Elle se réserve aussi le droit de déterminer si une mauvaise utilisation en a été la cause, soit par
manque d'entretien, mauvaise utilisation ou une utilisation abusive de la part du client.

Pieces
Déflecteur Bombardier Outlander
Réf. # Numéro Description Qté.

1 # selon couleur Base de déflecteur 1
2 51-999-100 Visicre claire 16 %’ 8 trous 1
3 51-999-01 Bouton fixation 8
4 51-999-93 Support supérieur droite 1
5 51-999-94 Support supérieur gauche 1
6 51-999-37 Vis & six pans creux 1/4" —20 NC x 1/2" LG 8
7 51-999-35 Boulon ¥ écrou & rebord 8
8 51-999-95 Support inférieur gauche et droit 2
9 51-999-98 Tige d’appuie 2 1/4”’ fileté 1
10 51-999-96 Collet 7/8”’ Noir Sandtex 1
11 51-999-12 Rondelle conique 1”° X 25/64”’ 2
12 51-999-39 Boulon hex 3/8” NC X 1 34" LG 1
13 51-999-14 Rondelle Dentelé 3/8°° intérieur (star washer 3/8”” inc) 1
14 51-999-70 Rondelle 3/8” 2
15 51-999-71 Boulon Hex 3/8”” X 1 3/8” long 1
16 51-999-97 Tige d’appuie 1 5/8”’ 1
17 51-999-72 Boulon métrique 10mm X 2 3/8”’ 1

NOTE: Il est recommandé d'installer les miroirs (# 51-20565) vendu par Vip-Air. Info : admin@vip-air.com

Vip-Air inc. 25 avenue Coté, St-Ephrem, Québec, Canada, GOM 1R0



